FHEEREREME (A X ITHR)REREME

mBE % B |#E HEENE (%) |EE
mBn¥E E‘:.E%_ _ _ BEREYRE |FURE &t
1 EREENCBEEL-NET [m3 0
2 T TRKBERSY m3 0
= =3 - RN RN =+
3 o 7 = %‘E§77€ﬁ“t’7 JHE| 3 0 0 ol #pIv/o!
4 JIO=YILRASTHEALNV: 1 0
F—y) gt
5 iz B4t iR ERRERSY m3 0 0 0 #DIV/0!
6 o [REMBTRITINESY |t 0
8 FEIETFRAI7ILNESY t 0
9 . SFERZY E# m3 0
10 aVo)—rAR [2zO=Z9HILARSH B# m3 0
11|55 8 W50 BM m3 0 0 of #DIV/Or
12 ;E’i‘kﬁﬁ*ﬂtx%g ;.;%wr m3 0
13 o SRS E AR m3 0
T ki BEBEHE 3 0 0 0 #DIV/0!
15 INERLK Rl m3 0
16 SFEEAE t 0
17 SHA 4 Ak D25AT7 w2t A t 0 0 0 #DIV/0!
16 - 1|7 £a 59—k &) m3 0 0 N
17 - 1 £a29)—k0747vY1) m3 0 '
18 Ak Iat Ak & 0 EHRIE, OV —r2RE G
19 aVO)—rRY |EKEIVS)—k m3 0
19 — 1 :>7|J_—I:@E:. BKEI)—r2REE A 0
20 %fﬁaf/] KA MRSy IOy kg 0 0 0 #DIV/0!
91 =P 7?47‘»‘/1&%“7‘:%#(1 "3 0 0 ol  #oiv/or
k a9\ —k
22 TZRZEH (EHE) kg 0 0 o[ #DIV/0!
EiEXTEEARE DORE
23 g 51 $2 K 1o 2 m2 0 0 0 #DIV/0!
24 EEEEEESS m2 0 0 ol #DIV/0O!
25 [ 7K. = H 5 R K m2 0 0 0 #DIV/0!
26 BEMBEZRW-SHERD o 0
a4 (BERk)
SEM BEMBERWN-SERD 0 0| #DIV/0!
27 Ov%E (X AMEHIY |m2 0
) —rELE)
28 IN—TF= VB kg 0
99 B=&EHM TKERZERU=EREFHKED K 0 0 0| #DIV/0!
# (FAERIVAERR) &
30 18 IR BB R LEDE FR BB BH = 0 0 0 #DIV/0!
hRNEEET |BETSAFYIEDRSEE
31 Ok =509 Ve 0 0 0| #DIV/O!
32 2A4)L +S53IvHEAL)L m2 0 0 o] #DIV/0!
33 jEAC] BrEh S K7 TEH 1
34 ETY0 m3 0
35 EXodri m3 0
3% (WA &R m? .
m3 0
37 BEiRiEEM m3 0
38 EREIT m3 0
39 oo—) g oo—) g m2 0 0 0 #DIV/0!
40 IN—T17I)LiR—F m2 0 0 0 #DIV/0!
41 BEKREAR—F | m2 0 0 0 #DIV/0!
42 _ RKEZREAVMR m2 0 0 0 #DIV/0!
1 |[HTIRFY Lo o525 9manmg ms 0 0 of #ow/e
VBEEME S
44 EZILREM |[EZILREHM m?2 2,170 0 2170 100
45 W E0 A4 B E0 A4 TEH 1
46 PR EARE S HEBRA &I fH S R T L TEHR 2 0 2 100
47 EIEE I =) 0 0 0 #DIV/0!
48 IR R 7K A = 0 0 0 #DIV/0!
49 KEEA TR a 0 0 0]  #DIV/0!
e i v —
- oS S QEX,I//JE rMRUTRZE N 10 0 10 100
SR FORE
51 1% EL = 0 0 0 #DIV/0!
52 v = 0 0 0 #DIV/0!
T —
53 |t ?é?t{s:%—%mﬁiﬁiﬁﬂ-\'ﬁm m 165 49 214 77
54 BEKie TEH 0 0 o] #DIV/0!
AR N 3
55  |@rases E?g'ﬁ""ﬁw}%@%ﬂ”’& TEY 0 0 o| #piv/or
56 NS TEH# 0 0 0 #DIV/0!
57 V) —FRE | BEMEEERALERE R TEH 0
58 7 SRER TEH 1
99 R R B A R 3t R B2 SR AR TE=H 1 0 1 100
60 :" _[BEEREERRER IEH i 0 1 100
61 ﬁﬁ?iiﬁ”] ERETHEHFATE TEH 0 0 o| #pIv/0!
o2 |paorBEl lpnspmenETs  |TEX 0 0 of #ov/0
oV —MMRE |_. _ R
for ey : I$§& 0
64 HE (KB BEXRBEREILE — 0
65 |WE(HE) |MLEEBBTX LB .
. . EEMXIERRETZTR| ISR 0 0 ol #DIv/0O
66 AERILTIA Li-iEmfxiE Tk m2 0 0 0 #DIV/0!
67 IJJ%’&)I% g%!i}ﬁ@‘/’ﬂbt)‘/ HIIEJ I$§& 0 0 0 #DIV/O'
68 o i B 4 HEK M Ehi%E m2 0
69 | PRRERRE ol qeemi m2 22
70 [EF&iE B it m2 o _ _




